S 3 £E
PTAEREME=ERE

R TH AL AR S = P FRPTA

KEEEQWebB2 EBHLFT,

KEEIZFRATAEDGEWVERELHY FTIH, FROTF D 1 JLABRRIERR
IEXERE LT, FHIEBLET,



SHIBEEPTAERRMNE

F15ER FH2FEEHRE

F2EHER PHRFERE®RE

EIGHE DRFESHEFRES

FAGER THSFERRIEMEENER)
@ FHBEESHEFRAELE)

EOSEE SHSFEEETE(R)

FOEHER |UBEEFHE(E)



B8R SM2FEERERE

BRAZEH - RER

T P& - 5 - £ D1

PTA EH#%
HPE ATEZRH
HP amEZERME

& 4k |

T PE HE®AES

-HmPE HEEEZESR

- PE EHER
EREEEREER(ZH)
-FRGEIAFAESEERZR

REFD

2 4E |1

-mPE BIR&®AS
-FlmgHERH (=P TOVY)
BB ERKEU S

- RBH=
"FREBHARFAESEEZASR
FREEERGHRER(ZH)

EEX(ETREER)
RETEE

& 4 Nl

-FrEMEBEFRI(ZHTAYVY)
-HPE B22E®ES

-HmPE BIEEEZES
ZINFERN EEX(REOH)
-FREEERGHRES(ZH)




F22EHMRE DHN2EESHREARE

1. IRADEB B[
] i R2FFEFE | R2EFEARE L] =
B e 2 293,655 293,655
- 1,800 x ERE) = 0
= B 0 0 s =
& R B UX 0 0
F 2 0 2
a Bt 293,655 293,657
2. ZHOE
BEE | & B B8 R2FFEFE | R2ZEERE i@ =
1 e = 0 0
2 & 8 = 3,000 561 =FRR7—MNIEE
3 Z 2 Z 8 8 0 0
4| R4 £ B & 0 0
[RMB | 5| Lk E B £ 0 0
6| —¥FEEBS 0 0
70 Z®2FEEBS 0 0
8| =ZEZHZER 0 0
9| & ZE X B & 0 0
- 100 B # & #H 30,000 16,669| [REMASR. ALY N (HE, 2il)
11| x&8 - BEEH 33,000 33,000f X—)LEESFIAE
12| ®& B8 = 5,000 3,914 =FRR7—bhF3—ORK
13| R4 EF B 2 0 0
14 K 3k 8 & 0 0
15| "% Z 82 0 0
EHE (16| —_®*E&82 0 0
17| Z % £ZB R 0 0
18| & & % 8 & 0 0
19 & 8 # B & 0 0
20| ¥ o =} 0 0
21| & E o8B & 0 0
22| B B B 20,000 3,148 ZEAME (T - FRI)
sueepy 23| #& fs B 20,285 20,285 MEHABERIR. BEEEER. AFER
24| &IREUNY B 8 0 0
25| Z= E | LB 168,480 171,870 ZERSH. FEXMHO DR
26| F & B 3,890 0
27| Bl - BEEIE 0 0
s 28 BHICRS K B PR AR & 10,000 0
a &t 293,655 249,447
3. UNZDEB URA ZiH B&
293,657 H - 249447 1 = 44,210 9
4. TEIODEP
I8 B NS N A Ml R| X ® 2 K B =
B ] & # | I & 606,036 0 6| 78,980 527,062
BEAIERK - AESEMIE 1,028,496 0 10| 120,000 908,506
M EDBEDHREHUET . SH3E3/31H
@ 542 1@ 1=V Bl
- AT N Fi 3] 4
HISHE SN2 ERAHENNS
LEROHBECHEBRVWT EERERUET. SH3%E48168

anes 2L P fo 45Y @@1‘?’ L gB 5’@ ﬁL/T’&Z/C

vnj -




BABME SHSFERRBHGER

@ &&
& B K 4 2
= R N F & 2 £
Bk A ¥# % 3 &
Bk =& I§ F 14 -3 %
Bk F 5 s # Bl
g i BH EEF 3 &
g i A X F 2 £
g & X B XW 2 £
g & g EHEHF 1 £
g & T EEPEGH
= &t M A =®F 3 &
= it E® RTF 3 &
= §t TE BHAF 1 £
= it & B & FEPEGH
PTAKRIE 15 FI<kY. UL EOFZEHR-LET,
SHREERRS &K B MR #h7 4
@ =EtE=E

& B K 4 F F
RETEE TH #F 2
RETEE Zz N i 2 £

RFETEES &I k2 EerHan




BOBMEE SNCHFEEERTE(I)

Ak -#ES Z O it b 15 5F B
PTAKS TR B
PTARE%S SRR ST
-BES-EEEES BRI ERPTAERS
RATERD SSEESe T OvsR
—FA— L EE RSB ER IS
-REERH
—pERES —HERES SHERES
"EHL-F B2 -EH L -F B2 -EH L -FE 82
PTALE&ESWH PTALE&ESH -PTARE&ESWH
-ESERITILE L F—ay PSS SEBRELS /B TRES
PEEREES EEEBEHINA - SIEa H— I H
-REEEHIGA
[LREES BNEES BEZES

-EHL-EB2 "EHL-Z B L -EB2%
-FRART (R ZEHETR) EERE - RAEEPTAREEH

- S F T

& IERRIL/ \FO—)L

PTABHES
RS FRARIL XA ERERL




S EEEMEZERTE i

R K4
1-A ® H#H
1-A B H
- 1-B B B
%
% 1-B B
% 1-C E ik
1-C i A
EEE e =ZF
2-A o OH
2-A ®
= 2-B ¥ W
%
% 2-B # W
% 2-C p J
2-C A H
SR e D ez
3-A E H
3-A o =
= 3B E OB
%
% 3-B B
% 3-C fg 18
3-C I
e E) 25 BEE
ik K4
1-A oN
1-B = =R
&
= 2-C B =
xE —
=] 2-C fim R
=
3B B =
3-C ®




SEOBIR SHSFETPI(N)

1. UIRADER B M
IHE H SHI3EEFHE 5 &
" 44,210
1,800 FIx264(%EE)=475,200
= R >16,600 1,800 FIx20(EkE)=36,000
MR 0
& i 555,410
2. XHOE
BR | & % H SH3EEFHE it &
1 |# = 0
2 |#& 8 Ey 4,000 | BER HESEHS
3| B £ B = 10,000 | HBEK ZE=EHL
4 R N £ B = 0
REE (5| H® £ B = 0
6 |— ¥ & £ B = 2,000 HHEK
1|12 %2 £ £ B & 2,000 | HBFAR
8 |= ¥ & £ B & 2,000 | B
9& £ £ B = 2,000 | HFK
- 10 | =3 AR & 60,000 EEAR. R 10%F
1| & B E B 60,000 | ZEE. BIEE. EmEEEHRER
12 | 1% g8 = 30,000 | mHPERGEE
B 4 F B = 0
“Wih ¥ £ B = 0
B|— % £ F B8 = 30,300 FEESE 95 A+6 AX300H
FEE (16| - ¥ £ £ B = 33,300 FEESE 105 A+6 Ax300 M
17|Z 2 & £ B & 50,100 | #HESE 85 A+6 Ax300 A, 1E1t 6 Ax3,800 M
B8:E & £ B = 3,000 BEE 6 Ax500H
9|5E B % B B 4,000 | EBEOHE
20 | % VA & 20,000 | HBFARS. BBRRES HIESNER
21|% B H #H £ 0
2 | B & 20,000 | BHERTERNK. KB FEE
- 23 |1 53 & 21,000 | EUNMGERE. BESERE
U | ERENREEFEESE 0
% |FE X O W B 172,040 | ZEESEEGSE 1,760 Fx85 &+660 Fx34 #E%k
2% |F i & 9,670
2 | wE-BEBEILS 10,000
s
28 |FFI0-Fh- AERER IS 10,000
=) &t 555,410
XEEHE FRE 1,800 HE—EMALL. ETERDBZEDRERMILITHIL,
MCEERARNE L. BERESMREEICKYERE HEEIT 5,
KPRETEEZEROREBILY . REBEZKEIERICRATES,
3. IO
1EH HiiguE S0 3 FEREL BIE R
= & # 8B I = 527,062 10,000 537,062
B0 - K- EEBERILISE 908,506 10,000 918,506




